

Bid Tabulation
Sallier Street Reconstruction
City of Lake Charles
Capital Project No. LR0002
M.A. Project No. B6-17080-DA

BID DATE: February 3, 2026
BID TIME: 2:00 P.M. (Central Standard Time)

<u>CONTRACTOR</u>	<u>TOTAL BASE BID</u>	<u>TOTAL ALTERNATE NO. 1</u>	<u>TOTAL ALTERNATE NO. 2</u>	<u>TOTAL ALTERNATE NO. 3</u>
McManus Construction, LLC	\$13,953,060.10	\$138,425.00	\$1,194,234.00	\$362,377.50
Merrick, LLC	\$15,542,475.00	\$151,615.00	\$1,338,195.00	\$617,065.00
Siema Construction, LLC	\$16,431,726.00	\$146,333.00	\$1,238,528.00	\$343,393.00
ENGINEER'S ESTIMATE	\$14,028,250.00	\$221,275.00	\$1,230,300.00	\$425,000.00

I hereby state that to the best of my knowledge and belief this is a true and correct tabulation of the bids received for the project described herein.


Byron D. Racca, P.E.

STATE OF LOUISIANA
BYRON D. RACCA
License No. 33694
PROFESSIONAL ENGINEER
IN
CIVIL ENGINEERING

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
BASE BID									
202-02-06060	47	Each	Removal of Concrete Catch Basin	\$1,500.00	\$70,500.00	\$700.00	\$32,900.00	\$706.00	\$33,182.00
202-02-03040	20,600	SY	Removal of Pavement	\$40.00	\$824,000.00	\$7.00	\$144,200.00	\$30.00	\$618,000.00
202-02-06100	1,675	SY	Removal of Concrete Walks and Drives	\$50.00	\$83,750.00	\$15.00	\$25,125.00	\$15.00	\$25,125.00
202-02-32140	5,500	LF	Removal of Pipe (Storm Drain)	\$30.00	\$165,000.00	\$35.00	\$192,500.00	\$18.00	\$99,000.00
202-02-36000	9	Each	Removal of Railroad Grade Crossing	\$4,000.00	\$36,000.00	\$2,500.00	\$22,500.00	\$10,500.00	\$94,500.00
202-02-40100	1	LS	Removal of Traffic Signal Equipment	\$11,395.00	\$11,395.00	\$20,000.00	\$20,000.00	\$26,000.00	\$26,000.00
203-01-00100	9,600	CY	General Excavation	\$13.50	\$129,600.00	\$14.00	\$134,400.00	\$50.00	\$480,000.00
203-06-00100	1	LS	Excavation and Embankment	\$120,000.00	\$120,000.00	\$675,000.00	\$675,000.00	\$155,600.00	\$155,600.00
203-07-00100	18,750	CY	Borrow (Vehicular Measurement) (Road Backfill)	\$28.00	\$525,000.00	\$27.00	\$506,250.00	\$20.00	\$375,000.00
203-07-00200	12,500	CY	Borrow (Vehicular Measurement) (Subgrade - Lime Treated Fill)	\$28.00	\$350,000.00	\$58.00	\$725,000.00	\$48.00	\$600,000.00
204-06-00100	1,650	LF	Temporary Silt Fencing	\$5.00	\$8,250.00	\$4.00	\$6,600.00	\$2.00	\$3,300.00
204-08-00100	64	Each	Temporary Catch Basin Inlet Filter Socks	\$75.00	\$4,800.00	\$200.00	\$12,800.00	\$246.00	\$15,744.00
206-01-00100	1	LS	Storm Water Pollution Prevention Plan	\$2,500.00	\$2,500.00	\$13,000.00	\$13,000.00	\$6,126.00	\$6,126.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
302-02-08020	29,000	SY	Class II Base Course (8" Thick) (Stone)	\$36.00	\$1,044,000.00	\$30.00	\$870,000.00	\$38.00	\$1,102,000.00
402-01-00100	1,000	CY	Traffic Maintenance Surfacing (Aggregate) (Vehicular Measurement)	\$160.00	\$160,000.00	\$140.00	\$140,000.00	\$92.00	\$92,000.00
502-01-00100	225	TON	Asphalt Concrete	\$445.00	\$100,125.00	\$240.00	\$54,000.00	\$315.00	\$70,875.00
601-01-00500	25,450	SY	Portland Cement Concrete Pavement (10" Thick)	\$130.00	\$3,308,500.00	\$108.00	\$2,748,600.00	\$135.00	\$3,435,750.00
601-02-01100	1,883	SY	Portland Cement Concrete Pavement (10" Thick) (Crossovers & Turnouts)	\$135.00	\$254,205.00	\$140.00	\$263,620.00	\$138.00	\$259,854.00
701-03-01000	1,001	LF	Storm Drain Pipe (15" RCP)	\$100.00	\$100,100.00	\$240.00	\$240,240.00	\$381.00	\$381,381.00
701-03-01002	269	LF	Storm Drain Pipe (15" RCP/RPVCP)	\$100.00	\$26,900.00	\$150.00	\$40,350.00	\$109.00	\$29,321.00
701-03-01020	77	LF	Storm Drain Pipe (18" RCP)	\$112.00	\$8,624.00	\$170.00	\$13,090.00	\$406.00	\$31,262.00
701-03-01022	110	LF	Storm Drain Pipe (18" RCP/RPVCP)	\$112.00	\$12,320.00	\$180.00	\$19,800.00	\$144.00	\$15,840.00
701-03-01042	793	LF	Storm Drain Pipe (24" RCP/RPVCP)	\$144.00	\$114,192.00	\$190.00	\$150,670.00	\$153.00	\$121,329.00
701-03-01062	180	LF	Storm Drain Pipe (30" RCP/RPVCP)	\$160.00	\$28,800.00	\$215.00	\$38,700.00	\$161.00	\$28,980.00
701-03-01082	1,324	LF	Storm Drain Pipe (36" RCP/RPVCP)	\$180.00	\$238,320.00	\$250.00	\$331,000.00	\$198.00	\$262,152.00
701-04-01040	100	LF	Storm Drain Pipe Arch (24" Equiv. RCPA)	\$165.00	\$16,500.00	\$240.00	\$24,000.00	\$175.00	\$17,500.00
701-04-01060	233	LF	Storm Drain Pipe Arch (30" Equiv. RCPA)	\$180.00	\$41,940.00	\$250.00	\$58,250.00	\$208.00	\$48,464.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
701-04-01080	529	LF	Storm Drain Pipe Arch (36" Equiv. RCPA)	\$210.00	\$111,090.00	\$290.00	\$153,410.00	\$242.00	\$128,018.00
701-04-01100	620	LF	Storm Drain Pipe Arch (42" Equiv. RCPA)	\$268.00	\$166,160.00	\$325.00	\$201,500.00	\$330.00	\$204,600.00
701-04-01120	607	LF	Storm Drain Pipe Arch (48" Equiv. RCPA)	\$300.00	\$182,100.00	\$350.00	\$212,450.00	\$400.00	\$242,800.00
701-17-00100	4,400	LF	Trench Excavation Safety Protections (Depth > 5-ft)	\$20.00	\$88,000.00	\$10.00	\$44,000.00	\$3.00	\$13,200.00
702-03-00100	3	Each	Catch Basins (CB-01)	\$6,000.00	\$18,000.00	\$7,500.00	\$22,500.00	\$6,600.00	\$19,800.00
702-03-00500	44	Each	Catch Basins (CB-06)	\$7,000.00	\$308,000.00	\$10,000.00	\$440,000.00	\$8,900.00	\$391,600.00
702-03-00510	8	Each	Catch Basins (CB-06) with Rear Inlet	\$7,000.00	\$56,000.00	\$10,000.00	\$80,000.00	\$10,500.00	\$84,000.00
702-03-00710	11	Each	Catch Basins (CB-08)	\$12,000.00	\$132,000.00	\$18,000.00	\$198,000.00	\$16,200.00	\$178,200.00
702-03-00700	1	Each	Catch Basins (CB-08) with Rear Inlet	\$13,000.00	\$13,000.00	\$18,000.00	\$18,000.00	\$19,400.00	\$19,400.00
703-03-00100	9,930	LF	Perforated Pipe Underdrains	\$31.00	\$307,830.00	\$22.00	\$218,460.00	\$27.00	\$268,110.00
706-01-00100	4,000	SY	Concrete Walk (4" Thick)	\$90.00	\$360,000.00	\$85.00	\$340,000.00	\$83.00	\$332,000.00
706-02-00200	1,000	SY	Concrete Drive (6" Thick)	\$90.00	\$90,000.00	\$175.00	\$175,000.00	\$96.00	\$96,000.00
707-01-00100	12,725	LF	Concrete Curb	\$15.00	\$190,875.00	\$18.00	\$229,050.00	\$9.00	\$114,525.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$220,000.00	\$220,000.00	\$640,000.00	\$640,000.00	\$392,000.00	\$392,000.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
713-02-00100	24,000	LF	Temporary Pavement Markings (4" Width)	\$0.30	\$7,200.00	\$0.30	\$7,200.00	\$0.35	\$8,400.00
713-02-00500	375	LF	Temporary Pavement Markings (24" Width)	\$1.50	\$562.50	\$2.00	\$750.00	\$1.25	\$468.75
713-12-00100	18	MONTH	Temporary Traffic Control Signals	\$5,000.00	\$90,000.00	\$6,500.00	\$117,000.00	\$1,360.00	\$24,480.00
714-01-00600	3,000	SY	Slab Sodding (St. Augustine)	\$9.35	\$28,050.00	\$10.00	\$30,000.00	\$10.50	\$31,500.00
726-01-00100	1,300	CY	Bedding Material	\$160.00	\$208,000.00	\$175.00	\$227,500.00	\$145.00	\$188,500.00
727-01-00100	1	LS	Mobilization	\$451,725.00	\$451,725.00	\$1,550,000.00	\$1,550,000.00	\$1,769,000.84	\$1,769,000.84
729-01-00100	18	SF	Sign (Type A)	\$466.00	\$8,388.00	\$500.00	\$9,000.00	\$31.00	\$558.00
731-02-00100	750	Each	Reflectorized Raised Pavement Markers	\$8.00	\$6,000.00	\$8.00	\$6,000.00	\$9.00	\$6,750.00
732-01-01040	250	LF	Plastic Pavement Striping (8" Width) (Thermoplastic 90 MIL)	\$3.50	\$875.00	\$3.75	\$937.50	\$4.00	\$1,000.00
732-01-01080	1,700	LF	Plastic Pavement Striping (24" Width) (Thermoplastic 90 MIL)	\$16.00	\$27,200.00	\$17.00	\$28,900.00	\$17.00	\$28,900.00
732-02-02000	3.500	MILE	Plastic Pavement Striping (Solid Line) (4" Width) (Thermoplastic 90 MIL)	\$6,500.00	\$22,750.00	\$7,000.00	\$24,500.00	\$6,920.00	\$24,220.00
732-03-02000	3.000	MILE	Plastic Pavement Striping (Broken Line) (4" Width) (Thermoplastic 90 MIL)	\$3,050.00	\$9,150.00	\$3,300.00	\$9,900.00	\$3,246.00	\$9,738.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
732-03-02010	0.100	MILE	Plastic Pavement Striping (Dotted Line) (4" Width) (2' Length) (Thermoplastic 90 MIL)	\$4,370.00	\$437.00	\$4,700.00	\$470.00	\$4,655.00	\$465.50
732-03-02030	0.050	MILE	Plastic Pavement Striping (Dotted Line) (8" Width) (2' Length) (Thermoplastic 90 MIL)	\$10,925.00	\$546.25	\$13,000.00	\$650.00	\$11,638.00	\$581.90
732-04-01020	15	Each	Plastic Pavement Legends and Symbols (Arrow - Straight Turn)	\$460.00	\$6,900.00	\$500.00	\$7,500.00	\$491.00	\$7,365.00
732-04-01040	6	Each	Plastic Pavement Legends and Symbols (Arrow - Dbl)	\$633.00	\$3,798.00	\$600.00	\$3,600.00	\$674.00	\$4,044.00
732-04-01080	27	Each	Plastic Pavement Legends and Symbols (Arrow - Left Turn)	\$460.00	\$12,420.00	\$500.00	\$13,500.00	\$490.00	\$13,230.00
732-04-01100	5	Each	Plastic Pavement Legends and Symbols (Arrow - Right Turn)	\$460.00	\$2,300.00	\$500.00	\$2,500.00	\$490.00	\$2,450.00
732-04-18000	2	Each	Plastic Pavement Legends and Symbols (RR Crossing)	\$1,265.00	\$2,530.00	\$1,200.00	\$2,400.00	\$1,350.00	\$2,700.00
736-01-00100	325	LF	Trenching and Backfilling	\$19.00	\$6,175.00	\$20.00	\$6,500.00	\$11.00	\$3,575.00
736-03-00100	415	LF	Jacking or Boring for conduit	\$17.00	\$7,055.00	\$18.00	\$7,470.00	\$18.00	\$7,470.00
736-04-10250	2	Each	Signal Pole (Single Mast Arm, 25ft)	\$21,355.00	\$42,710.00	\$22,000.00	\$44,000.00	\$21,500.00	\$43,000.00
736-04-10300	2	Each	Signal Pole (Single Mast Arm, 30ft)	\$23,000.00	\$46,000.00	\$23,000.00	\$46,000.00	\$26,350.00	\$52,700.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
736-05-30000	6	Each	Signal Heads (3 Section, 12 inch Led Lens, R, Y, G)	\$1,280.00	\$7,680.00	\$1,400.00	\$8,400.00	\$1,450.00	\$8,700.00
736-05-41000	1	Each	Signal Heads (4 Section, 12 inch Led Lens, R, Y, LT. G, G)	\$1,539.00	\$1,539.00	\$1,500.00	\$1,500.00	\$1,856.00	\$1,856.00
736-05-51000	1	Each	Signal Heads (5 Section, 12 inch Led Lens, R, LT. Y, Y, LT. G, G)	\$1,676.00	\$1,676.00	\$1,800.00	\$1,800.00	\$1,850.00	\$1,850.00
736-06-00100	1	Each	Signal Service	\$3,995.00	\$3,995.00	\$4,300.00	\$4,300.00	\$8,620.00	\$8,620.00
736-06-00500	1	Each	Signal Service Pedestal Disconnect	\$1,655.00	\$1,655.00	\$1,800.00	\$1,800.00	\$1,787.00	\$1,787.00
736-08-00102	1	Each	Signal Controller (980 ATC, Type 2) (Furnish & Install)	\$6,208.00	\$6,208.00	\$6,500.00	\$6,500.00	\$6,828.00	\$6,828.00
736-10-00300	5	Each	Underground Junction Box (Type F)	\$1,668.00	\$8,340.00	\$1,800.00	\$9,000.00	\$1,124.00	\$5,620.00
736-10-00400	1	Each	Underground Junction Box (Type G)	\$2,057.00	\$2,057.00	\$2,200.00	\$2,200.00	\$2,216.00	\$2,216.00
736-11-00200	250	LF	Conduit (2" HDPE, Schedule 80)	\$7.68	\$1,920.00	\$8.00	\$2,000.00	\$8.00	\$2,000.00
736-11-00300	560	LF	Conduit (3" HDPE, Schedule 80)	\$10.00	\$5,600.00	\$10.00	\$5,600.00	\$10.00	\$5,600.00
736-12-03006	755	LF	Conductor (3c, 6 gauge / #6 awg)	\$7.40	\$5,587.00	\$8.00	\$6,040.00	\$9.00	\$6,795.00
736-12-06014	445	LF	Conductor (6c, #14 awg)	\$3.70	\$1,646.50	\$4.00	\$1,780.00	\$6.00	\$2,670.00
736-12-10014	605	LF	Conductor (10c, #14 awg)	\$4.93	\$2,982.65	\$5.00	\$3,025.00	\$8.00	\$4,840.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
736-15-03600	4	Each	Signal Support (Foundation, 36 inch Minimum Diameter)	\$16,776.00	\$67,104.00	\$18,000.00	\$72,000.00	\$13,870.00	\$55,480.00
736-17-00000	1	Each	Video Detection Cabinet Components	\$17,471.00	\$17,471.00	\$18,000.00	\$18,000.00	\$10,100.00	\$10,100.00
736-18-00002	4	Each	Video Detection Camera	\$3,763.00	\$15,052.00	\$4,000.00	\$16,000.00	\$4,240.00	\$16,960.00
736-19-00000	645	LF	Video Camera Cable	\$1.46	\$941.70	\$1.50	\$967.50	\$9.00	\$5,805.00
736-23-00000	2	Each	LED Blank Out Sign	\$7,508.00	\$15,016.00	\$8,000.00	\$16,000.00	\$2,362.00	\$4,724.00
739-01-00100	3.4	ACRE	Hydro-Seeding	\$4,950.00	\$16,830.00	\$4,000.00	\$13,600.00	\$4,717.00	\$16,037.80
740-01-00100	1	LS	Construction Layout	\$28,150.00	\$28,150.00	\$250,000.00	\$250,000.00	\$70,220.00	\$70,220.00
741(01)(C)(12)(18)	2,400	LF	Furnish & install 12" AWWA C900 SDR-18 PVC water main	\$90.00	\$216,000.00	\$85.00	\$204,000.00	\$100.00	\$240,000.00
741(01)(C)(8)(18)	100	LF	Furnish & install 8" AWWA C900 SDR-18 PVC water main	\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$49.01	\$4,901.00
741(01)(D)(12)(11)	750	LF	Furnish & install 12" AWWA C906 HDPE DIPS SDR-11 water main	\$26.00	\$19,500.00	\$88.00	\$66,000.00	\$29.00	\$21,750.00
741(02)(1)	50	LF	Furnish & install 3/4" - 1" AWWA C901 CTS HDPE service line	\$2.20	\$110.00	\$80.00	\$4,000.00	\$2.50	\$125.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
741(03)(12)	750	LF	Horizontal directional drilling for 12" water main (to be paid in addition to price for open-cut installation)	\$75.00	\$56,250.00	\$45.00	\$33,750.00	\$83.00	\$62,250.00
741(03)(1)	50	LF	Horizontal directional drilling for 3/4" - 1" service piping (to be paid in addition to price for open-cut installation)	\$13.20	\$660.00	\$90.00	\$4,500.00	\$15.00	\$750.00
741(06)(6)	1	Each	Furnish & install 6" gate valve w/ box	\$2,326.50	\$2,326.50	\$4,200.00	\$4,200.00	\$2,591.00	\$2,591.00
741(06)(8)	4	Each	Furnish & install 8" gate valve w/ box	\$3,509.00	\$14,036.00	\$4,400.00	\$17,600.00	\$3,910.00	\$15,640.00
741(08)(12)(12)	1	Each	Furnish & install 12"x12" tapping sleeve & valve	\$12,958.00	\$12,958.00	\$13,000.00	\$13,000.00	\$14,450.00	\$14,450.00
741(14)	1.5	TON	Furnish & install ductile iron mechanical joint fittings	\$34,100.00	\$51,150.00	\$39,000.00	\$58,500.00	\$38,000.00	\$57,000.00
741(15)(12)	5	Each	Furnish & install 12" joint restraints	\$440.00	\$2,200.00	\$2,000.00	\$10,000.00	\$490.00	\$2,450.00
741(16)(12)	16	Each	Furnish & install 12" PE/PVC adapters	\$649.00	\$10,384.00	\$900.00	\$14,400.00	\$723.00	\$11,568.00
741(17)(6)	1	Each	Connect to existing 6" water main	\$1,639.00	\$1,639.00	\$3,500.00	\$3,500.00	\$1,825.00	\$1,825.00
741(17)(8)	4	Each	Connect to existing 8" water main	\$1,815.00	\$7,260.00	\$3,600.00	\$14,400.00	\$2,021.00	\$8,084.00
741(18)(12)	4	Each	Plug ends of 12" water main to be abandoned	\$1,897.50	\$7,590.00	\$950.00	\$3,800.00	\$2,113.00	\$8,452.00
741(21)	2	Each	Transfer service assembly	\$1,039.50	\$2,079.00	\$1,000.00	\$2,000.00	\$1,158.00	\$2,316.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
741(27)	5	CY	Furnish & install concrete thrust blocks	\$550.00	\$2,750.00	\$850.00	\$4,250.00	\$614.00	\$3,070.00
741(28)	5	Each	Furnish & install marking posts	\$137.50	\$687.50	\$185.00	\$925.00	\$153.00	\$765.00
741(30)(12)	3,000	LF	Fill abandoned 12" water main with grout	\$13.20	\$39,600.00	\$18.00	\$54,000.00	\$15.00	\$45,000.00
741(30)(8)	1,500	LF	Fill abandoned 8" water main with grout	\$11.00	\$16,500.00	\$18.00	\$27,000.00	\$12.00	\$18,000.00
741(34)	40	CY	Furnish & install select backfill	\$33.00	\$1,320.00	\$50.00	\$2,000.00	\$37.00	\$1,480.00
741(35)	10	CY	Extra excavation	\$5.50	\$55.00	\$130.00	\$1,300.00	\$6.00	\$60.00
741(37)	500	LF	Turf Construction	\$4.15	\$2,075.00	\$7.50	\$3,750.00	\$5.00	\$2,500.00
741(42)	3,250	LF	Testing & disinfection of water mains (minimum bid price of \$0.20 per LF)	\$1.10	\$3,575.00	\$4.50	\$14,625.00	\$2.00	\$6,500.00
741(43)	2,500	LF	Clean-up & final dressing of water main trenches (minimum bid price of \$0.20 per LF)	\$1.10	\$2,750.00	\$7.00	\$17,500.00	\$2.00	\$5,000.00
742(01)(18)(8-10)	1,400	LF	Furnish & install 18" ASTM DF679 SDR-35 PVC sewer main (8' - 10' depth)	\$115.50	\$161,700.00	\$128.00	\$179,200.00	\$129.00	\$180,600.00
742(01)(18)(10-12)	2,200	LF	Furnish & install 18" ASTM DF679 SDR-35 PVC sewer main (10' - 12' depth)	\$143.00	\$314,600.00	\$130.00	\$286,000.00	\$159.00	\$349,800.00
742(01)(18)(12-14)	200	LF	Furnish & install 18" ASTM DF679 SDR-35 PVC sewer main (12' - 14' depth)	\$170.50	\$34,100.00	\$205.00	\$41,000.00	\$190.00	\$38,000.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
742(01)(8)(A)(6-8)	30	LF	Furnish & install 8" ASTM D2241 SDR-26 PVC sewer main (6' - 8' depth)	\$60.50	\$1,815.00	\$210.00	\$6,300.00	\$68.00	\$2,040.00
742(02)(6)	50	LF	Furnish & install 6" ASTM D3034 SDR-26 PVC service pipe	\$33.00	\$1,650.00	\$135.00	\$6,750.00	\$37.00	\$1,850.00
742(03)(6)	20	LF	Furnish & install 6" ASTM D3034 SDR-26 PVC riser pipe	\$27.50	\$550.00	\$165.00	\$3,300.00	\$31.00	\$620.00
742(04)(A)(18)(6)	2	Each	Furnish & install 18" x 6" service wye or tee	\$2,370.50	\$4,741.00	\$2,000.00	\$4,000.00	\$2,640.00	\$5,280.00
742(04)(B)(6)	4	Each	Furnish & install 6" 45 degree bend	\$148.50	\$594.00	\$585.00	\$2,340.00	\$166.00	\$664.00
742(04)(C)(6)	2	Each	Furnish & install 6" service coupling	\$165.00	\$330.00	\$585.00	\$1,170.00	\$184.00	\$368.00
742(05)(18)	250	LF	Furnish & install 18" sewer main by jack and bore	\$313.50	\$78,375.00	\$575.00	\$143,750.00	\$350.00	\$87,500.00
742(06)(30)	70	LF	Furnish & install 30" steel casing by jack and bore	\$2,365.00	\$165,550.00	\$1,400.00	\$98,000.00	\$2,634.00	\$184,380.00
742(07)(8-10)	2	Each	Furnish & install precast concrete sewer manhole (8'-10' depth)	\$12,567.50	\$25,135.00	\$15,000.00	\$30,000.00	\$13,997.00	\$27,994.00
742(07)(10-12)	6	Each	Furnish & install precast concrete sewer manhole (10'-12' depth)	\$14,883.00	\$89,298.00	\$15,500.00	\$93,000.00	\$16,576.00	\$99,456.00
742(07)(12-14)	6	Each	Furnish & install precast concrete sewer manhole (12'-14' depth)	\$17,143.50	\$102,861.00	\$16,000.00	\$96,000.00	\$19,093.00	\$114,558.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
742(10)	6	Each	Connections to existing manholes and sewer mains	\$6,501.00	\$39,006.00	\$3,700.00	\$22,200.00	\$7,421.00	\$44,526.00
742(11)	500	CY	Furnish & install pipe foundation material	\$101.00	\$50,500.00	\$50.00	\$25,000.00	\$112.00	\$56,000.00
742(13)	100	CY	Furnish & install select backfill	\$33.00	\$3,300.00	\$50.00	\$5,000.00	\$37.00	\$3,700.00
742(15)(18)	3,500	LF	Grout existing 18" sewer main to be abandoned	\$21.00	\$73,500.00	\$15.00	\$52,500.00	\$23.00	\$80,500.00
742(15)(8)	400	LF	Grout existing 8" sewer main to be abandoned	\$16.50	\$6,600.00	\$20.00	\$8,000.00	\$18.00	\$7,200.00
751(01)(D)(10)	750	LF	Furnish & install 10" AWWA C906 SDR-11 DIPS HDPE sewer force main	\$19.00	\$14,250.00	\$50.00	\$37,500.00	\$21.00	\$15,750.00
751(02)	0.4	TON	Furnish & install ductile iron mechanical joint fittings	\$54,450.00	\$21,780.00	\$45,000.00	\$18,000.00	\$60,650.00	\$24,260.00
751(05)(10)	750	LF	Horizontal directional drilling for 10" sewer force main (to be paid in addition to price for open-cut installation)	\$71.50	\$53,625.00	\$30.00	\$22,500.00	\$80.00	\$60,000.00
751(07)	1	CY	Furnish & install concrete thrust blocks	\$550.00	\$550.00	\$850.00	\$850.00	\$613.00	\$613.00
751(08)(10)	4	Each	Furnish & install 10" PE/MJ adapter	\$572.00	\$2,288.00	\$750.00	\$3,000.00	\$637.00	\$2,548.00
751(10)	1	Each	Connection to manhole	\$7,216.00	\$7,216.00	\$13,000.00	\$13,000.00	\$8,037.00	\$8,037.00
751(11)	2	Each	Furnish & install marking posts	\$137.50	\$275.00	\$180.00	\$360.00	\$153.00	\$306.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
753(01)	1	LS	Pump station site work	\$86,636.00	\$86,636.00	\$165,000.00	\$165,000.00	\$90,398.21	\$90,398.21
753(02)	1	LS	Pump station pumping system, basin, and piping	\$782,369.50	\$782,369.50	\$400,000.00	\$400,000.00	\$871,351.00	\$871,351.00
805-01-02000	1	Each	Class A1 Reinforced Concrete Headwall (includes steel reinforcement)	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$21,256.00	\$21,256.00
825(01)	1	LS	Pump station electrical	\$75,471.00	\$75,471.00	\$85,000.00	\$85,000.00	\$100,800.00	\$100,800.00
NS-736-00130	1	Each	TS-2 Traffic Signal Cabinet (Ground Mounted)	\$25,941.00	\$25,941.00	\$30,000.00	\$30,000.00	\$32,500.00	\$32,500.00
TOTAL BASE BID					\$13,953,060.10			\$15,542,475.00	
\$16,431,726.00									

ALTERNATE NO. 1 (RIVERSIDE DRIVE CUL-DE-SAC)

202-02-02020	265	SY	Removal of Asphalt Pavement	\$40.00	\$10,600.00	\$16.00	\$4,240.00	\$28.00	\$7,420.00
202-02-06100	85	SY	Removal of Concrete Walks and Drives	\$40.00	\$3,400.00	\$15.00	\$1,275.00	\$16.00	\$1,360.00
203-01-00101	250	CY	General Excavation	\$13.50	\$3,375.00	\$30.00	\$7,500.00	\$25.00	\$6,250.00
203-07-00201	300	CY	Borrow (Vehicular Measurement) (Subgrade - Lime Treated Fill)	\$28.00	\$8,400.00	\$60.00	\$18,000.00	\$48.00	\$14,400.00
302-02-08021	600	SY	Class II Base Course (8" Thick) (Stone)	\$36.00	\$21,600.00	\$35.00	\$21,000.00	\$37.00	\$22,200.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
502-01-00100	130	TON	Asphalt Concrete	\$465.00	\$60,450.00	\$240.00	\$31,200.00	\$337.00	\$43,810.00
701-03-01001	86	LF	Storm Drain Pipe (15" RCP)	\$100.00	\$8,600.00	\$200.00	\$17,200.00	\$381.00	\$32,766.00
702-03-00100	1	Each	Catch Basins (CB-01)	\$6,000.00	\$6,000.00	\$6,200.00	\$6,200.00	\$5,201.00	\$5,201.00
706-02-00200	10	SY	Concrete Drive (6" Thick)	\$100.00	\$1,000.00	\$500.00	\$5,000.00	\$100.00	\$1,000.00
713-01-00101	1	LS	Temporary Signs and Barricades	\$2,500.00	\$2,500.00	\$15,000.00	\$15,000.00	\$1,610.00	\$1,610.00
727-01-00101	1	LS	Mobilization	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$7,200.00	\$7,200.00
740-01-00101	1	LS	Construction Layout	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$3,116.00	\$3,116.00
TOTAL ALTERNATE NO. 1					\$138,425.00			\$151,615.00	
ALTERNATE NO. 2 (RIVERSIDE DRIVE & LAKE STREET DRAINAGE IMPROVEMENTS)									
201-01-00100	1	LS	Clearing and Grubbing	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00	\$25,200.00	\$25,200.00
202-02-03042	325	SY	Removal of Pavement	\$40.00	\$13,000.00	\$10.00	\$3,250.00	\$31.00	\$10,075.00
202-02-06062	5	Each	Removal of Concrete Catch Basin	\$1,500.00	\$7,500.00	\$700.00	\$3,500.00	\$706.00	\$3,530.00
202-02-32142	2,100	LF	Removal of Pipe (Storm Drain)	\$30.00	\$63,000.00	\$35.00	\$73,500.00	\$18.00	\$37,800.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
203-06-00102	1	LS	Excavation and Embankment (Side Slopes)	\$25,800.00	\$25,800.00	\$42,000.00	\$42,000.00	\$18,600.00	\$18,600.00
203-07-00202	250	CY	Borrow (Vehicular Measurement) (Subgrade - Lime Treated Fill)	\$28.00	\$7,000.00	\$70.00	\$17,500.00	\$48.00	\$12,000.00
203-07-00302	1,200	CY	Borrow (Vehicular Measurement) (Ditch Backfill)	\$28.00	\$33,600.00	\$25.00	\$30,000.00	\$54.00	\$64,800.00
302-02-08022	515	SY	Class II Base Course (8" Thick) (Stone)	\$36.00	\$18,540.00	\$35.00	\$18,025.00	\$38.00	\$19,570.00
601-01-00502	450	SY	Portland Cement Concrete Pavement (10" Thick)	\$130.00	\$58,500.00	\$145.00	\$65,250.00	\$138.00	\$62,100.00
701-03-01024	384	LF	Storm Drain Pipe (18" RCP)	\$112.00	\$43,008.00	\$180.00	\$69,120.00	\$171.00	\$65,664.00
701-03-01102	1,610	LF	Storm Drain Pipe (48" RCP/RPVCp)	\$342.00	\$550,620.00	\$350.00	\$563,500.00	\$340.00	\$547,400.00
702-03-00202	17	Each	Catch Basins (CB-02)	\$8,000.00	\$136,000.00	\$9,200.00	\$156,400.00	\$11,000.00	\$187,000.00
702-03-00502	4	Each	Catch Basins (CB-06)	\$7,000.00	\$28,000.00	\$9,500.00	\$38,000.00	\$11,075.00	\$44,300.00
702-03-00702	1	Each	Catch Basins (CB-08)	\$8,500.00	\$8,500.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
707-01-00102	450	LF	Concrete Curb	\$30.00	\$13,500.00	\$20.00	\$9,000.00	\$10.00	\$4,500.00
713-01-00102	1	LS	Temporary Signs and Barricades	\$33,500.00	\$33,500.00	\$15,000.00	\$15,000.00	\$27,000.00	\$27,000.00
714-01-00602	200	SY	Slab Sodding (St. Augustine)	\$9.35	\$1,870.00	\$12.00	\$2,400.00	\$10.50	\$2,100.00
726-01-00102	450	CY	Bedding Material	\$160.00	\$72,000.00	\$175.00	\$78,750.00	\$144.00	\$64,800.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
727-01-00102	1	LS	Mobilization	\$20,000.00	\$20,000.00	\$80,000.00	\$80,000.00	\$1,984.00	\$1,984.00
739-01-00200	1	ACRE	Hydro-Seeding (Flexterra or equal to)	\$10,296.00	\$10,296.00	\$8,000.00	\$8,000.00	\$11,467.00	\$11,467.00
740-01-00102	1	LS	Construction Layout	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$3,115.00	\$3,115.00
S-001	1	LS	Miscellaneous Drainage Connections	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$5,523.00	\$5,523.00
			TOTAL ALTERNATE NO. 2		\$1,194,234.00			\$1,338,195.00	
									\$1,238,528.00

ALTERNATE NO. 3 (WALNUT GROVE IMPROVEMENTS)

202-03033	670	SY	Removal of Pavement Structure	\$40.00	\$26,800.00	\$10.00	\$6,700.00	\$17.00	\$11,390.00
202-02-06140	450	LF	Removal of Curbs (Concrete)	\$30.00	\$13,500.00	\$12.00	\$5,400.00	\$6.00	\$2,700.00
203-01-00103	475	CY	General Excavation	\$13.50	\$6,412.50	\$15.00	\$7,125.00	\$25.00	\$11,875.00
203-07-00203	625	CY	Borrow (Vehicular Measurement) (Subgrade - Lime Treated Fill)	\$28.00	\$17,500.00	\$65.00	\$40,625.00	\$48.00	\$30,000.00
302-02-08023	1,675	SY	Class II Base Course (8" Thick) (Stone)	\$36.00	\$60,300.00	\$35.00	\$58,625.00	\$38.00	\$63,650.00
601-01-00103	485	SY	Portland Cement Concrete Pavement (8" Thick)	\$95.00	\$46,075.00	\$185.00	\$89,725.00	\$166.00	\$80,510.00
706-03-00303	1,185	SY	Incidental Concrete Paving (6" Thick)	\$90.00	\$106,650.00	\$185.00	\$219,225.00	\$95.00	\$112,575.00

Bid Tabulation**Sallier Street Reconstruction****City of Lake Charles****Capital Project No. LR0002****M.A. Project No. B6-17080-DA**

McManus Construction, LLC
4126 Hwy 3059
Lake Charles, LA 70615
LA Contractor Lic. No. 14648

Merrick, LLC
1332 Front Street
Cottonport, LA 71327
LA Contractor Lic. No. 55505

Siema Construction, LLC
408 Sunbeam Lane
Lafayette, LA 70508
LA Contractor Lic. No. 52306

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
707-01-00103	982	LF	Concrete Curb	\$20.00	\$19,640.00	\$20.00	\$19,640.00	\$5.00	\$4,910.00
713-01-00103	1	LS	Temporary Signs and Barricades	\$10,500.00	\$10,500.00	\$45,000.00	\$45,000.00	\$123.00	\$123.00
727-01-00103	1	LS	Mobilization	\$10,000.00	\$10,000.00	\$60,000.00	\$60,000.00	\$1,758.00	\$1,758.00
740-01-00103	1	LS	Construction Layout	\$3,000.00	\$3,000.00	\$30,000.00	\$30,000.00	\$1,600.00	\$1,600.00
S-002	7	Each	Catch Basin Adjustments	\$6,000.00	\$42,000.00	\$5,000.00	\$35,000.00	\$3,186.00	\$22,302.00
TOTAL ALTERNATE NO. 3					\$362,377.50			\$617,065.00	
TOTAL ALTERNATE NO. 3									\$343,393.00